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NEW QUESTION 1

Which protocol prevents fiber failures from causing a Layer 2 loop in a dark fiber DCI?

A. BFD

B. UDLD
C. MCP
D. LLDP

Answer: B

NEW QUESTION 2

Which feature provides a sandbox to convert NX-OS CLI commands to REST-based scripts on Cisco Nexus 7700 Series Switches?

A. NX-API

B. Postman
C. Bash shell
D. Guest shell

Answer: A

NEW QUESTION 3
Refer to the exhibit.

Create vHBA Template

Name

Description

Fabric ID * A B
Redundancy

Select VSAN
Template Type
Max Data Field Size
WWPN Pool

QoS Policy

Pin Group

Redundancy Type

Stats Threshold Policy

® No Redundancy Primary Template
default v Create V5AN
® |nitial Template Updating Template
2048
Select (pool default used by default) v
<not set> v
<not set> ¥

default ¥

Secondary Template

Which template is used when a VHBA template pair is created for a specific server that inherits its attributes from an existing template?

A. Secondary
B. Initial

C. Updating
D. Primary

Answer: B

NEW QUESTION 4

Which type fields can an engineer use to identify an iISCSI participant? (Choose two.)

A. type

B. preshared key
C. port number
D. identifying tag
E. hostname

Answer: CE

NEW QUESTION 5

Drag and drop the technologies from the left onto the correct descriptions on the right.
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allows the storage system to tell

ISCSI the client which paths are optimized
provides block-level access
TOE to the storage
host software has visibility
MPIO into different iSCSI ports
ALUA offloads device CPU from
encapsulation / decapsulation
A. Mastered
B. Not Mastered
Answer: A
Explanation:
iSCSI ALUA
TOE iISCSI
MPIO MPIO
ALUA TOE

NEW QUESTION 6
Which element is the main functional component of the architecture that separates the internal fabric and the external network that connects sites when VXLAN
EVPN is deployed multisite?

A. border leaf

B. service leaf

C. border gateway
D. service gateway
Answer: C

NEW QUESTION 7
Drag and drop the data center technologies from the left onto the correct descriptions on the right. Not all technologies are used.
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bivotiih oxitehi connects a classical Etherent vPC domain
cut-througn switching and a Cisco FabricPath cloud to interoperate
otV extends Layer 2 domains across distributed
data centers

performs Layer 2 lookup as soon

store-anchforward switching as the destination MAC is received

VPC two separate control planes, performs

device aggregation
VPC+
A. Mastered
B. Not Mastered
Answer: A
Explanation:
B R I s e S e |
| cut-through switching | : VPC4
e =
| otV | otV
B e 5
___________________________ —
store-and-forward switching | cut-through switching
8
VPC VPC
I e R e T VY R e P B = W ____l
VPC+

NEW QUESTION 8
What are two reasons to select OTV as the DCI solution to connect multisite topologies? (Choose two.)

A. It propagates hosts reachability without support of traffic flooding.
B. Layer 3 failures do not propagate beyond the OTV edge device.
C. It extends the spanning tree between data centers.

D. It is an open standard.

E. It constrains HSRP hello messages to each data center.

Answer: BC

NEW QUESTION 9

What can be implemented on Cisco Nexus 5600 Series Switches for link redundancy within a Fibre Channel fabric?
A. vPC+

B. E-Trunk

C. SAN port channel

D. LACP port channel

Answer: D

NEW QUESTION 10

What is an advantage of using OTV as compared to VPLS for data center redundancy?

A. prevents loops on point-to-point links
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B. provides head-end replication
C. uses a proactive MAC advertisement
D. provides full-mesh connectivity

Answer: A

NEW QUESTION 10
Which two automation requirements can be met by using Puppet? (Choose two.)

A. Push configuration updates immediately to servers.

B. Enable clients to pull changes to configuration files.

C. Enabile clients to pull changes without installing an agent.

D. Provide support for writing new modules in Python.

E. Enable one-off infrastructure changes to be performed manually.

Answer: AB

NEW QUESTION 13
Which two configurations are available by using a service profile template in Cisco UCS Manager? (Choose two.)

A. number of vHBAs

B. ARP entries

C. UUID assignment
D. VXLAN membership
E. target server

Answer: AC

NEW QUESTION 18
Which two naming formats identify target or initiator iISCSI nodes? (Choose two.)

A. WWPN
B. EUI

C. QN

D. WWN
E. OUI

Answer: CD

NEW QUESTION 19

Which two features are provided by deploying an OOB management network in a Cisco Nexus data center? (Choose two.)

A. Layer 3 path for monitoring purposes
B. Layer 2 path for server traffic

C. Layer 2 path for a vPC peer link

D. Layer 3 path for vPC keepalive packets
E. Layer 3 path for server traffic

Answer: BC

NEW QUESTION 24
Refer to the exhibit.
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Chassis 2

An engineer must assign multiple Fibre Channel IDs to a single port channel. Which two features must be enabled this goal? (Choose two.)

A. SAN Pin Groups on the Cisco UCS Fabric Interconnects.

B. NPV feature on the Cisco MDS Series.

C. end-host mode feature on the Cisco UCS Fabric Interconnects
D. NPIV feature on the Cisco MDS Series

E. Smart Zoning feature on the Cisco UCS Fabric Interconnects

Answer: BD

NEW QUESTION 28
Which orchestration tool should be used for the management and analytics of servers across multiple sites?

A. Cisco Intersight

B. Cisco Nexus Fabric Manager

C. Cisco UCS Manager

D. Cisco Data Center Network Manager

Answer: A

NEW QUESTION 31
Which two methods mitigate congestion in a SAN network? (Choose two.)

A. Configure ER_RDY to allow splitting of each ISL between switches into separate virtual links.
B. Use the port-monitor command to detect slow drain devices.

C. Configure the port channel to enable individual buffer-to-buffer credits.

D. Configure the port monitor to allow categorization of a specific device as slow.

E. Configure the flow control for the FC to use R_RDY.

Answer: BD

NEW QUESTION 33

Which multicast rendezvous point redundancy mode is valid for Bidirectional PIM?
A. Embedded RP

B. Phantom RP

C. MSDP

D. PIM anycast RP

Answer: D

NEW QUESTION 36

Which two vSphere features must be included in the design of a Cisco HyperFlex systems stretched cluster? (Choose two.)

A. HA
B. VSS
C.FT
D. VDP
E. DRS
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Answer: AE

NEW QUESTION 39
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